
Mware Certified Associate - Digital Business Transformation
Exam

VMware
1V0-701 Exam

Questions & Answers
Demo



Questions & Answers PDF Page 2

Version: 10.0

Question: 1

Which is the main differentiator for VMware vSAN when compared to a Virtual Storage Appliance
(VSA)?

A. VMware vSAN is integrated into the ESXi Kernel.
B. VMware vSAN can be implemented with external storage.
C. VMware vSAN is implemented as virtual Appliance.
D. A VSA is tightly integrated with VMkernel.

Answer: A

Question: 2

Which two statements about VMware Horizon View Administrator are true? (Choose two.)

A. VM ware Horizon View Administrator can be installed on a vCenter Server that manages virtual
machines.
B. VMware Horizon View Administrator is installed with the Horizon View Connection Server.
C. VMware Horizon View Administrator is a software service that acts as a broker for client
connections.
D. VMware Horizon View Administrator allows administrators to manage Horizon View Connection
Server instances from anywhere without having to install an application on their local computers.

Answer: B,D

Question: 3

Which four application services are delivered by VMware Horizon 7? (Choose four.)

A. Packaged apps with VMware ThinApp
B. Virtualized apps from Citrix
C. SaaS apps
D. Helpdesk ticketing system
E. RDS hosted apps
F. Anti-virus services

Answer: A,B,C,E

Question: 4
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Which feature of VMware vSphere will automate the process of migrating virtual machines to fewer
hosts during times of low workloads?

A. FT
B. EVC
C. DPM
D. HA

Answer: C

Question: 5

Which two statements are true for vRealize Business for Cloud? (Choose two.)

A. It provides costing for non-vSphere workload by directly integrating with them.
B. It provides public cloud costing, consumption analysis, and pricing.
C. It collects performance data through the agents that are deployed in the cloud workloads.
D. It provides costing for native services hosted on AWS and Azure cloud.
E. It provides Automatic private cloud metering, costing, and pricing.

Answer: B, E

Question: 6

VMware offers vRealize Suite in editions that provide different functionality at different points,
making it easy to license VMware vRealize Suite to meet a customer’s specific requirements and use
cases.
Which three are vRealize Suite editions? (Choose three.)

A. Enterprise Plus
B. Foundations
C. Advanced
D. Enterprise
E. Professional
F. Standard

Answer: C,D,F

Question: 7

Which are five key benefits of the VMware vRealize Suite cloud management platform? (Choose
five.)

A. Business/ IT Alignment
B. Control
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C. Agility
D. Security
E. Optimize
F. Configuration Management
G. Efficiency

Answer: B,C,E,F,G

Question: 8

In which form does Virtual SAN store and manage data?

A. Files
B. Disks
C. Objects
D. Blocks

Answer: C

Virtual SAN stores and manages data in the form of flexible data containers called objects. An object
is a logical volume that has its data and metadata distributed and accessed across the entire cluster.

Question: 9

Which two are use cases for a VMware vSphere deployment. (Choose two.)

A. A company wants higher availability in their data centers.
B. A company wants to run all applications directly on bare metal servers.
C. A company wants a mixed workload of public and private cloud.
D. A company wants to run all workloads in the public cloud.
E. A company wants to run all workloads on-premises.

Answer: A,E

Question: 10

How does VMware Cross-Cloud Architecture address incompatibility between clouds?

A. VMware Cross-Cloud Architecture does not address incompatibility between clouds.
B. By using network virtualization technology across clouds.
C. By replacing public clouds.
D. By replacing private clouds.

Answer: B
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